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1. In the balanced three-phase system shown in Fig.1, the line voltage is 34.5kV rms at 60Hz. We

wish to find the values of the capacitors C such that the total load has a power factor of 0.94
leading (10%)
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2. Consider the circuit shown in Fig.2, (15%)
(a) Find the value C to place the circuit in resonance at 1800 rad/sec (10%)
(b) After you obtain the C, determine the Q of the network. (5%)

10
WA _L
C
10/0° v Cj)
| 100 mH
Fig.2

3. Consider the circuit in Fig.3, (15%)
(a) Find the value of Z; for maximum average power transfer (10%)
(b) Find the value of the maximum average power delivered to the load. (5%}
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4. Determine the hybrid parameters of the circuit in Fig.4. (10%)
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5. Consider the circuit shown in Fig.5. Assume that the network is in steady state prior to t=0.
Find the current i(t) for t>0. (10%)
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6. (20%)

- (a) Use Thevenin’s theorem to find V, of the circuit in Fig.6a. (10%)

(b). Use superposition to find V, in Fig.6b. (10%)})
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7. Consider the circuit shown in Fig.7, obtain the current 1;. (10%)
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8. Consider the circuit shown in Fig.8, obtain the average power supplied by the source. (10%)
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